

## Ejercicios de Fracciones.

$$\frac{1}{2} + \frac{3}{4} + \frac{5}{6} = \frac{25}{12}$$

$$\frac{1}{2} + \left(\frac{3}{4} + \frac{5}{6}\right) = \frac{25}{12}$$

$$\frac{3}{5} - \frac{3}{4} + \frac{3}{8} = \frac{9}{40}$$

$$\frac{3}{5} - \left(\frac{3}{4} + \frac{3}{8}\right) = -\frac{21}{40}$$

$$\frac{1}{2} + \frac{3}{4} \cdot \frac{5}{6} = \frac{9}{8}$$

$$\left(\frac{1}{2} + \frac{3}{4}\right) \cdot \frac{5}{6} = \frac{25}{24}$$

$$\frac{4}{5} \cdot \frac{3}{4} + \frac{5}{6} = \frac{43}{30}$$

$$\frac{4}{5} \cdot \left(\frac{3}{4} + \frac{5}{6}\right) = \frac{19}{15}$$

$$\frac{3}{16} - \frac{3}{4} : \frac{4}{5} = -\frac{3}{4}$$

$$\left(\frac{3}{16} - \frac{3}{4}\right) : \frac{4}{5} = -\frac{45}{64}$$

$$\frac{12}{15} \cdot \frac{3}{4} \cdot \frac{5}{6} = \frac{1}{2}$$

$$\frac{12}{15} \cdot \left(\frac{3}{4} \cdot \frac{5}{6}\right) = \frac{1}{2}$$

$$\frac{27}{20} \cdot \frac{16}{9} : \frac{4}{5} = 3$$

$$\frac{27}{20} \cdot \left(\frac{16}{9} : \frac{4}{5}\right) = 3$$

$$\frac{2}{3} - \frac{3}{4} + \frac{4}{5} - \frac{5}{6} = -\frac{7}{60}$$

$$\frac{2}{3} : \frac{3}{4} : \frac{4}{5} : \frac{5}{6} : \frac{6}{7} = \frac{14}{9}$$

$$\frac{2}{3} : \left(\frac{3}{4} : \frac{4}{5} : \frac{5}{6}\right) : \frac{6}{7} = \frac{56}{81}$$

$$\frac{3}{2} - \frac{3}{5} - \frac{4}{3} = -\frac{13}{30}$$

$$\frac{3}{2} - \left(\frac{3}{5} - \frac{4}{3}\right) = \frac{67}{30}$$

$$\frac{7}{4} + \frac{3}{5} - \frac{4}{3} = \frac{61}{60}$$

$$\frac{7}{4} + \left(\frac{3}{5} - \frac{4}{3}\right) = \frac{61}{60}$$

$$\frac{1}{2} - \frac{3}{5} \cdot \frac{4}{3} = -\frac{3}{10}$$

$$\left(\frac{1}{2} - \frac{3}{5}\right) \cdot \frac{4}{3} = -\frac{2}{15}$$

$$\frac{5}{2} \cdot \frac{3}{4} - \frac{1}{6} = \frac{41}{24}$$

$$\frac{5}{2} \cdot \left(\frac{3}{4} - \frac{1}{6}\right) = \frac{35}{24}$$

$$\frac{7}{2} + \frac{5}{8} : \frac{3}{4} = \frac{13}{3}$$

$$\left(\frac{7}{2} + \frac{5}{8}\right) : \frac{3}{4} = \frac{11}{2}$$

$$\frac{16}{20} : \frac{8}{25} : \frac{15}{12} = 2$$

$$\frac{16}{20} : \left(\frac{8}{25} : \frac{15}{12}\right) = \frac{3}{2}$$

$$\frac{3}{10} : \frac{9}{5} \cdot \frac{6}{13} = \frac{1}{13}$$

$$\frac{3}{10} : \left(\frac{9}{5} \cdot \frac{6}{13}\right) = \frac{13}{36}$$

$$1 - \frac{2}{3} + \frac{4}{5} - \frac{6}{7} = \frac{29}{105}$$

$$1 : \frac{2}{3} : \frac{4}{5} : \frac{6}{7} : \frac{8}{9} = \frac{315}{128}$$

$$1 : \left(\frac{2}{3} : \frac{4}{5} : \frac{6}{7}\right) : \frac{8}{9} = \frac{81}{70}$$